N = 0l & At & Ml A

20209 &= =0l &t LBl H Foa
N L1
My B4 AMY L3
SRl BAYYMAIBRE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=4t 17,147,324 14,848,419 2,298,905
= 1,283,457
J| 4,805,693
= 2,280,673
Al 8,777,501
sS4 ZHE 25t 16,813,162 14,468,070 2,345,092
= 1,283,457
J| 4,615,756
< 2,249,017
Al 8,664,932
SHFF AR 7,939,644 6,215,568 1,724,076
J| 1,853,906
< 1,069,041
Al 5,016,697
Sazg et 52,000 52,800 A 800
201 Let24d] 31,800 34,600 A 2,800
01 At 22l 31,600 34,400 A 2,800
OsHNYRFT0 OHE LEer29| 23,200
OZMAMNE =IRER X
7,000 1002 1204 & 8,400
02 =224l 200 200 0
OS=HYLENW BE ZT2YY| 200
202 (44l 17,200 15,200 2,000
01 SLHOYI 17,200 15,200 2,000
OsHLUYRFA0U E WAL 17,200
203 YR =&l 3,000 3,000 0
03 AIMZ=AH 2 =AH| 3,000 3,000 0
OZMD U2 AIMER 3,000
St RS ALY (XHA) 510,000 510,000 0
402 BI2FX=0| M 510,000 510,000 0
01 2I2EH 2 A B (KM ) 380,000 380,000 0
Ot FLAIL 2 U3 NJAE 330,000
Ooggs SN XNEAM
4,000& *25,000kg*50% 50,000
03 212t EFAL S HI 130,000 130,000 0
OFS ATLH AN HAY
10,000& %10, 0005 »100% 100,000
Ox=Zet0lal X&AY 30,000
StRAERHAIE (EX) 119,200 214,400 A 95,200
< 35,960
Al 83,240
402 QI2H X201 M 119,200 214,400 A 95,200
< 35,960




EXN: Fat
a4 B L
SRl BAFYMADBTE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 83,240
02 BIZtXIEANYEX(0OIETHHA) 18,000 48,000 A 30,000
OS84+E HEFH UMY
10,000, 000 34! *60% 18,000
& 5,400
Al 12,600
03 212t EF AN HI 101,200 166,400 AN 65,200
OAs STAHE NEXNIAY 51,000
= 15,500
Al 35,500
Olsd dA=72 ZEXSAY 50,200
& 15,060
Al 35,140
a0/ N (EX) 81,114 98,726 A17,612
J| 40,557
= 12,168
Al 28,389
402 SI2FXHE20| & 81,114 98,726 N 17,612
J| 40,557
& 12,168
Al 28,389
03 QI 2t EF A HI 81,114 98,726 N 17,612
OADI| OlEH XNR_AMNS(HELEH])
81,114,000 *100% 81,114
J| 40,557
= 12,168
Al 28,389
DEL M2 SHAY(EX) 72,000 76,000 A 4,000
= 21,600
Al 50,400
402 SI2F X201 & 72,000 76,000 A 4,000
= 21,600
Al 50,400
02 CIZEXIEAIS X (0| XM THL) 72,000 76,000 A 4,000
OFNME BASAN XFAY 60,000,000 *50% 30,000
o=} 9,000
Al 21,000
O=EAMI|I AN KNSAFSY 84,000,000 *50% 42,000
= 12,600
Al 29,400
SOIRMAOEY U SHREHEF LAY 30,900 32,500 ~1,600
= 9,270
Al 21,630
402 SI2FXHE0| M 30,900 32,500 A 1,600
== 9,270
Al 21,630
03 QI 2t EF A HI 30,900 32,500 A 1,600




EXN: Fat
a4 B L
SRl BAYYMAIBRE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OS0HRIMAOHA X & ALY
20,000& x2, 2905 *50% 22,900
& 6,870
Al 16,030
OFZB4etRZ2EBHEHBSISHE XN AY
100, 000 *805= *100% 8,000
= 2,400
Al 5,600
IS A2 A K& A 97,000 0 97,000
== 29,100
Al 67,900
402 BI2H X201 M 97,000 0 97,000
== 29,100
Al 67,900
02 QIZEXIEAISE X (0| XM THL) 97,000 0 97,000
OJIE At 2tel e XIS AY
194,000,000 *50% 97,000
= 29,100
Al 67,900
IS AE HOUAIAEY SEUSAIS 40,000 0 40,000
402 BI2H X 20| M 40,000 0 40,000
01 It EANSEXR (M) 40,000 0 40,000
OJEAZT HXZOAIAE SUHBHALS 40,000
Epts Aol 22l (KA 5,000 5,000 0
301 et A =2 5,000 5,000 0
09 SHAIAHI X & 2 5,000 5,000 0
Ot sgolchiy 22| 5,000
ESAMHPAI KR (KHH) 2,000 2,000 0
202 044 2,000 2,000 0
01 2L Hl 2,000 2,000 0
OZA20F S B2ASH U WX 0+
50,000 x4 10 2,000
MNESREL ALY (XA 168,000 108,000 60,000
402 SI2FXHE0| & 168,000 108,000 60,000
01 CIZEXIEANS EXR (MMM ) 60,000 0 60,000
OMFER 4|8 XA
40,000,000 *3CH *50% 60,000
03 QI 2t EF A HI 108,000 108,000 0
OMFER =ol&ed=2 NI AN 108,000
S AASAAS (XA 312,395 343,000 A 30,605
402 SI2t X0l & 312,395 343,000 A 30,605
01 It E A EXR (M) 87,395 118,000 A 30,605




2N
X ZH -
L= B

el

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
ORAAZFH FAX ALY
20,000& *2,500st *50% 25,000
OXRA FLAIE 2 803 NJAME
124,790,000& *50% 62,395
03 BIZHRIEF AL HI 225,000 225,000 0
ORA R ASAEY
150,000 & #2305 1200 & «50% 207,000
OXRALZFAY 20,000& *9005 x100% 18,000
HSMASHAMG(BEX) 52,050 52,050 0
< 15,615
Al 36,435
402 RIZERt20l ™ 52,050 52,050 0
< 15,615
Al 36,435
02 QI2t X2 AIA 2= (01X THE) 22,050 22,050 0
OXRAE HEM XA
30,000& *1,470& *50% 22,050
< 6,615
Al 15,435
03 212t EFAFS HI 30,000 30,000 0
O4Yd=s &1 XA 200,000& *300L *50% 30,000
= 9,000
Al 21,000
ALK M| AF(ME) 64,800 54,000 10,800
< 54,000
Al 10,800
402 RI2EX20| ™ 64,800 54,000 10,800
< 54,000
Al 10,800
02 2t 2 AL EZ (OIS ) 64,800 54,000 10,800
OSBRSS MADIIE 15 XY
18,000, 000& *6IH 2= x60% 64,800
< 54,000
Al 10,800
I3 (+, 22l ) eSS ALY 42,000 84,000 242,000
402 RI2HXt20l ™ 42,000 84,000 A 42,000
01 212t 2 AL E = (REM ) 42,000 84,000 A 42,000
OJta SAHAIE  ZH SUstAY 42,000
II2(&, 22 )M SHAL(BEX) 180,000 138,000 42,000
S 54,000
Al 126,000
402 RI2HX=01 M 180,000 138,000 42,000
< 54,000
Al 126,000
02 QI EALEZ (01X ) 180,000 138,000 42,000




EXN: Fat
B S4 M L
Sl BAFSMAIBDE CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OZd Uyl JIIEZAIE 8FMA XA
10,000, 000& *3074 2~ *60% 180,000
& 54,000
Al 126,000
BAA S AL (XHAN) 182,000 173,000 9,000
402 BI2H X 20| M 182,000 173,000 9,000
01 SI2ZEXIEANSEXR (MMM A) 182,000 173,000 9,000
OZYEIINM KNAS 182,000
BAY SAHANY(EX) 105,616 89,500 16,116
& 31,685
Al 73,931
402 SI2F X0l & 105,616 89,500 16,116
& 31,685
Al 73,931
02 BIZtXIEANYEX(0OIETH) 105,616 89,500 16,116
OLdE=IH 2 MAFH XAL
42,000,000 *50% 21,000
& 6,300
Al 14,700
ODEE A=Z2I| M XA 84,616
= 25,385
Al 59,231
SAHA M USAIY (M EH) 7,950 0 7,950
= 6,625
Al 1,325
402 SI2tXHE0| ™ 7,950 0 7,950
& 6,625
Al 1,325
02 QX2 A E X (0| X THSH) 7,950 0 7,950
OESE A B A ALY 7,950
& 6,625
Al 1,325
SAAMASHALS (KHA) 35,900 40,025 N4, 125
402 RI2H X201 M 35,900 40,025 N4, 125
01 SIZEXIEANSEXR (MMM E) 35,900 40,025 N4, 125
O A JIXMH KA 21,800,000 x50% 10,900
O=gA &2 XEAE  1,000,000& *505 *x50% 25,000
JIENIESHE(BX) 108,250 56,600 51,650
o= 32,475
Al 75,775
402 SI2v 20| & 108,250 56,600 51,650
& 32,475
Al 75,775
02 QIZtXIE A E X (0| XM THH) 108,250 56,600 51,650




N L1
My B4 AMY L3
SRl BAYYMAIBRE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMsE 2123 XIJA A 550,000 *305 *50% 8,250
< 2,475
Al 5,775
OREE23 Ms KB AY
50,000, 0002 4 2 x50% 100,000
< 30,000
Al 70,000
IIEMHEE NAAG(BE) 630,000 425,000 205,000
< 180,000
Al 450,000
307 21201 A 630,000 425,000 205,000
< 180,000
Al 450,000
02 QB AANGFEX 630,000 425,000 205,000
OJ=MoHEE s RE=3 XNFAEY
900,000,000 x70% 630,000
< 180,000
Al 450,000
EASHH SHHAIAE XA (HEH) 3,200 6,400 A 3,200
< 2,000
Al 1,200
402 BIZEX201 ™ 3,200 6,400 A 3,200
< 2,000
Al 1,200
02 U2 TEALEZ(0IETHR) 3,200 6,400 A 3,200
OS M3 AEAIAE X2 AH
4,000, 000& *1JH 2~ *80% 3,200
< 2,000
Al 1,200
Jt=THolt CHE XIJA ALY 200,000 220,000 A 20,000
402 RI2EX=20l A 200,000 220,000 A20,000
01 U2 E2ALE X (KM R) 200,000 220,000 A20,000
OJI=THoll S SLAIE ZH XJAE
400,000,000& *50% 200,000
ZGAEY A 23HH X ZAHY 31,740 34,170 N 2,430
= 9,522
Al 22,218
402 BI2HX=01 M 31,740 34,170 A 2,430
< 9,522
Al 22,218
02 QI EAL EZ (OIS ) 31,740 34,170 AN2,430
OZZAEUA 23M KA
52,900,000 *60% 31,740
= 9,522
Al 22,218
SELMTRHAIG (EX) 12,500 34,000 A 21,500




N L1
a4 AW L
Sl EMAYMAIIBDS (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 3,750
Al 8,750
402 RI2EX=20| A 12,500 34,000 A 21,500
< 3,750
Al 8,750
02 QI EAISEZ (OIS ) 12,500 34,000 A 21,500
OFAMAE SHIEXNEHI| KA
25,000,000 *50% 12,500
< 3,750
Al 8,750
LAAENS XA(BEX) 2,000 2,000 0
< 600
Al 1,400
307 glz2+ol & 2,000 2,000 0
< 600
Al 1,400
02 It HAMHEE 2,000 2,000 0
Oay 435 XZAY(SOtAIE 2 A3
4,000,000& *50% 2,000
< 600
Al 1,400
ESE SHEAY 14,700 0 14,700
J| 7,350
< 2,205
Al 5,145
402 2I2H X201 M 14,700 0 14,700
J| 7,350
< 2,205
Al 5,145
02 QIZEHEASEZ (01X S) 14,700 0 14,700
OESE sS4 MY 14,700,000& »100% 14,700
J| 7,350
< 2,205
Al 5,145
s 4ol ot El 120,000 0 120,000
< 50,000
Al 70,000
307 21201 A 120,000 0 120,000
< 50,000
Al 70,000
02 HAFAANFEX 120,000 0 120,000
O&= =40l 80tE el 120,000,000 *12] 120,000
< 50,000
Al 70,000
2ZAMASHEINSAE XA (HE) 300,000 0 300,000
< 90,000
Al 210,000




2N

=
=
o S0 FEY
=

SRl BAFYMADBTE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
402 SI2FXHE0| M 300,000 0 300,000
== 90,000
Al 210,000
02 CIZEXIE A EX (0| XM THL) 300,000 0 300,000
OZ2EAMIHZTIZ2AE XNAY
600,000,000 = 1JH 2~ *50% 300,000
&< 90,000
Al 210,000
EAMZ20F ICTEES XK (EX) 859,500 660,000 199,500
J| 859,500
402 BI2H X =20l M 859,500 660,000 199,500
Jl 859,500
02 QIZEXIEAIS E X (0| XM THL) 859,500 660,000 199,500
OFMZ0E ICTSEE LAY
2,865,000,000& *x30% 859,500
J| 859,500
TASMAD|BHEE S AP (XHAD) 249,500 477,800 A 228,300
201 et | 3,500 1,800 1,700
01 AFR 2t 2| H| 3,500 1,800 1,700
OZXZANE AEIH MHZE 50& =70, 0000H 3,500
301 et A= 90,000 90,000 0
12 JIEtE2 A= 90,000 90,000 0
OFXANES (244 S) MAZHAS ALY 90,000
402 SI2t X0l & 156,000 386,000 A 230,000
01 It E AL EXR (M) 156,000 386,000 A 230,000
OZAIE JINTH(2EH Y )X ALY 156,000
TANSMAD|BIESIS AL (EX) 466,000 210,400 255,600
= 139,800
Al 326,200
301 et M= 226,000 170,400 55,600
o= 67,800
Al 158,200
12 JIEtE &2 226,000 170,400 55,600
OXAE MAEHZ XJAIE 226,000
= 67,800
Al 158,200
402 SI2FXHE0| & 240,000 40,000 200,000
= 72,000
Al 168,000
02 BIZtXIEANYE X (OIETHS) 240,000 40,000 200,000
OAMEZE XOtEHE &Yl X3 A
40,000,000 *3CH *50% 60,000
& 18,000
Al 42,000




2N

=
=
My B4 AMY L3
= =]

SRl BAYYMAIBRE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Os+% =30 NAAY
300,000,000& = 1CH x60% 180,000
= 54,000
Al 126,000
TAE MAZE AMLIXHMZXNEA(EX) 2,057,996 1,445,997 611,999
J| 685,999
< 228,666
Al 1,143,331
402 2I2H X201 M 2,057,996 1,445,997 611,999
J| 685,999
< 228,666
Al 1,143,331
02 QI EASEZ (01X ) 2,057,996 1,445,997 611,999
OZALZ Atel Xl MZEH XEAY 2,057,996
J| 685,999
< 228,666
Al 1,143,331
A2 MAg JIHEH Y N (BEX) 240,000 60,000 180,000
J| 60,000
< 54,000
Al 126,000
402 RIZEX201 ™ 240,000 60,000 180,000
J| 60,000
< 54,000
Al 126,000
02 RIZEXt 2 AL EZ (OIS ) 240,000 60,000 180,000
OZAME Mo JIAHZH XA
150,000, 000& *4 2 *40% 240,000
J| 60,000
< 54,000
Al 126,000
T A2 MAag BX7Y NA(BX) 443,333 190,000 253,333
J| 190,000
Al 253,333
402 RIZEX 20l A 443,333 190,000 253,333
J| 190,000
Al 253,333
02 U2 THEALEZ(0IETHR) 443,333 190,000 253,333
OZMEE ENTY XA 443,333
J| 190,000
Al 253,333
ENE ERBAXNA(BX) 21,000 21,000 0
J| 10,500
Al 10,500
101 @124l 21,000 19,000 2,000
J| 10,500
Al 10,500




2N
X ZH -
L= B

el

=4t
=0 3ME 23
EREEV IS

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 JIZHHZ2XREES 21,000 19,000 2,000
OZAIZSEHII ZAA ol24y| 21,000
J| 10,500
Al 10,500
TEBFLSASHI (EX) 20,000 25,200 A5,200
< 6,000
Al 14,000
301 LA F 20,000 25,200 A5,200
< 6,000
Al 14,000
12JIEBE43 20,000 25,200 A5,200
Oz Ed=FLE sHl XNBAAEY
20,000,000 x100% 20,000
< 6,000
Al 14,000
S MY 4,648,040 4,464,728 183,312
J| 2,558,000
< 470,772
Al 1,619,268
IS 2SSl SARS (RHAI) 306,000 306,000 0
402 RI2EX20l ™ 306,000 306,000 0
01 U2 EALE X (KA R) 306,000 306,000 0
OJ=28 HEHM(EH) XA
280, 000& *900CH x50% 126,000
OF=sI E2Hel (82 S)IKNEAY
60,000& *1,000CH x50% 180,000
E AN A ALY (KEA) 270,000 210,000 60,000
402 RI2EX=01 M 270,000 210,000 60,000
01 2I2E 2 A B (KM ) 270,000 210,000 60,000
ONE2h AFHLHNAS XA
4,000& 75,0004 *50% 150,000
OJ=2h HMaAZH(AIINEZH) XEAL
30,000,000& =8CH x50% 120,000
IIEER EIMHISHERX) 112,000 157,328 A 45,328
J| 56,000
< 16,800
Al 39,200
402 2I2H X201 M 112,000 157,328 N 45,328
J| 56,000
< 16,800
Al 39,200
02 QIZEHE2AIS EZ (O THS) 112,000 157,328 N45,328
ONEZL EIUHISH(HEAMNE) XA 112,000
J| 56,000
< 16,800




2AM: F4h
=

a4 B L
e JIIEEL XA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| Al 39,200
OHHIMAEX XK(EX) 56,000 196,000 A 140,000
J| 16,000
== 12,000
Al 28,000
402 QI2H X201 M 56,000 196,000 A 140,000
J| 16,000
= 12,000
Al 28,000
02 CIZEXIEANSE X (0| XM THL) 56,000 196,000 A 140,000
Of=2a el (HH HEX) NAY
20,000,000 x4 2~ *70% 56,000
J| 16,000
& 12,000
Al 28,000
=YL dMY|aAZHl XRF(EX) 260,000 200,000 60,000
Dl 130,000
== 39,000
Al 91,000
402 BI2H X 20| M 260,000 200,000 60,000
Jl 130,000
= 39,000
Al 91,000
02 SIZEXIEAIS EX (0| XM THL) 260,000 200,000 60,000
OIIEEL MY MY XNJAE
200,000& *1,300ha*100% 260,000
J| 130,000
= 39,000
Al 91,000
S MAES HatHel AlE N (EX) 51,690 34,400 17,290
= 15,507
Al 36,183
402 SI2HXH=20| ™ 51,690 34,400 17,290
o 15,507
Al 36,183
02 CIZEXIEAIS E X (0| XM THL) 51,690 34,400 17,290
OFERMHES H3tH2AE NEAY
34,460,000 *34 2~ *50% 51,690
== 15,507
Al 36,183
=2 HeAEAMD (2SS UESEH 3,220,000 3,187,800 32,200
Jl 2,300,000
o= 276,000
Al 644,000
402 SI2FXH=20| ™ 3,220,000 3,187,800 32,200
J| 2,300,000
o= 276,000
Al 644,000




B2 L H2lAY (S &2)
= - — L=
CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
02 QI EASEZ (OIS ) 3,220,000 32,200
ON=2a3sHEa(HUHXE) XA
4,600,000,000& x70% 3,220,000
J| 2,300,000
< 276,000
Al 644,000
25t A& Ml &H XA (XA) 100,000 100,000
402 2I2H X201 M 100,000 100,000
01 2I2FH 2 A B (RERTH &) 100,000 100,000
OJl=s2t A2™Mel&Edl K&
10,000,000& = 10CH 100,000
=25% ElHl &2 32,000 32,000
J| 16,000
< 4,800
Al 11,200
402 RI2EXt20| M 32,000 32,000
J| 16,000
< 4,800
Al 11,200
02 QI 2 A EZ (01X TH ) 32,000 32,000
OJ=2x EH&=ZH XA
200,000& *160ha*100% 32,000
J| 16,000
< 4,800
Al 11,200
HMZAEX A 80,000 80,000
J| 40,000
< 12,000
Al 28,000
402 RI2EX 20| ™ 80,000 80,000
J| 40,000
< 12,000
Al 28,000
02 QI 2 A EZ (01X TH ) 80,000 80,000
OAFHMZAIE X3 AL
50,000, 000& *4JH 2= «40% 80,000
J| 40,000
< 12,000
Al 28,000
TONRLSALERA 87,300 87,300
< 72,750
Al 14,550
402 RI2EXt20l ™ 87,300 87,300
= 72,750
Al 14,550
02 It 2 A EZ (01X TH ) 87,300 87,300




EXN: Fat
a4 B L
e JIIEEL XA (ct
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Os20sdgAeE XAY 87,300
=} 72,750
Al 14,550
SAEHINA 13,950 0 13,950
= 4,185
Al 9,765
307 2I2t0| & 13,950 0 13,950
& 4,185
Al 9,765
02 Q2B AMAIE E =X 13,950 0 13,950
OZMSANM ALY 13,950
< 4,185
Al 9,765
SAEE O NEXNJ 20,000 0 20,000
= 6,000
Al 14,000
307 21240 & 20,000 0 20,000
= 6,000
Al 14,000
02 DIZtEAAIE E X 20,000 0 20,000
OFBUSAMNE NEHA Are
5,000,000& *4JH &~ x100% 20,000
= 6,000
Al 14,000
SAHAM MA2AXE HMH2ZAS 27,900 0 27,900
o 8,370
Al 19,530
307 2I2t0| & 27,900 0 27,900
= 8,370
Al 19,530
02 DIZHEAAIE E X 27,900 0 27,900
O=AtYH AN A2 HMH2AAS 27,900
& 8,370
Al 19,530
|CTOI B S4tEHAE 22| Al AEALS 11,200 0 11,200
& 3,360
Al 7,840
402 SI2FXHE0| & 11,200 0 11,200
= 3,360
Al 7,840
02 QIZEXIE AL EX (0| XM THL) 11,200 0 11,200
OICTII B SALSHA Al AE AFE
16,000, 000 = 1 JH 2 x70% 11,200
& 3,360
Al 7,840
b ALY 4,169,211 3,506,374 662,837
_ 13 _




2AM: F4h
=

a4 B L
Sl ISP ALY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,283,457
J| 203,850
= 692,324
Al 1,989,580
S EY 2EAS(RA) 180,807 177,807 3,000
101 @124 dl 19,137 19,137 0
02 JIEt& 2 == 19,137 19,137 0
OZTELHLON SABE H23
600,000& 1200 & 7,200
OF=1-5 A ZW2RSE
8,21 Al 2bx1200 248,210 «30Al 2t+8IH & 6,897
oss Ol A O4HI 80,000& 1201 & 960
oF-1- SN ERRLY
40,0003 =124 & 480
O35 OAb F=HHI K&
300,000& 1200 & 3,600
201 Let24d] 18,370 15,370 3,000
01 At 22/l 6,920 3,920 3,000
OAl &9 agtal 52| 8,000 x2H x2452! 3,920
OAl FHSE HSA=SS 3,000
02 =24l 11,450 11,450 0
Ogdxd FA2eltl 5,725,000& *2CH 11,450
206 M= Hl 110,000 110,000 0
01 M= 4l 110,000 110,000 0
OYIAEI X LA 3,000,000& *10& 30,000
OUBIHEYS ABIYANY
25,0003 +1,200kg 30,000
OSSO0 =M X3 A 50,000& 700 35,000
O AEsIt A5A4ZXF 10,000 *1,500kg 15,000
301 LA S 10,000 10,000 0
12 JIE 243 10,000 10,000 0
OKRIIDL0 SHst+= KA
100, 000& 1005 10,000
307 21201 A 800 800 0
06 23 800 800 0
OMERA HHEE 800,000& » 14! 800
402 RI2HXt20| ™ 22,500 22,500 0
01 212t 2 A E = (RERTH ) 22,500 22,500 0
OF&sI MHHANSASAIE
4,500, 000& *10CH *50% 22,500
AHAHI2EMNG(EX) 788,632 588,288 200,344
< 235,073




SN ELD
ol &

Sl Db S e ALY (ol @)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 553,559
201 L2l 35,100 7,000 28,100
< 10,530
Al 24,570
01 At 2t 2l 35,100 7,000 28,100
OJ=dgd 222 9| 35,100
< 10,530
Al 24,570
206 M= Hl 164,038 198,718 A 34,680
< 49,211
Al 114,827
01 MHZ 4l 164,038 198,718 A 34,680
ONYAH Al Zagdy| 27,750
= 8,325
Al 19,425
OFHY Al AEY A 25t X 34,320
< 10,296
Al 24,024
Ot Mg dAS ZJ|xe A Y
22,000 x7404 16,280
=3 4,884
Al 11,396
SOIX SEAHE LR X
5,000& *3,5005 17,500
= 5,250
Al 12,250
O42 BV ¥ S8J| Mge8AXA
3,500& *5,0005 17,500
= 5,250
Al 12,250
O QZZAT Klg®wa N
1,180& 10,0005 11,800
< 3,540
Al 8,260
O2cl HIASZH K& 30,000& 690K 20,700
< 6,210
Al 14,490
OFHY 229 18,188
< 5,456
Al 12,732
301 LEHF 261,400 243,400 18,000
< 78,420
Al 182,980
12JIE243 261,400 243,400 18,000
RS2 BESAY 120,000& 4005 48,000
= 14,400
Al 33,600
O3 =¢ 1,000,000 7 1201 & 84,000




2AM: F4h
=

B S4 M L
e JIs2IAY (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
=] 25,200
Al 58,800
OFME HESX HEES Al=Hl 129,400
o= 38,820
Al 90,580
307 212t0| & 28,800 43,200 A 14,400
& 8,640
Al 20,160
02 I2HF AALE B X 28,800 43,200 AN 14,400
O Rollois X XNIAAS
18,000, 000& *2JH 2 *80% 28,800
o= 8,640
Al 20,160
402 Q12+t X220l & 299,294 95,970 203,324
& 88,272
Al 211,022
02 QX2 A E X (0| ETHS) 299,294 95,970 203,324
OFA UAEY OLH XA
34,000 *1,200= *60% 24,480
o= 8,160
Al 16,320
OSHXl SBLEA 0l LA AL
5,000 *6,0005 *50% 15,000
o= 4,500
Al 10,500
OBOIN SAHE Ol al Mg
15,000& %2, 1905 *80% 26,280
o= 7,884
Al 18,396
OHX &G olenasl XIJAAS
1,800& x16,0005 *80% 23,040
o= 6,912
Al 16,128
OHX Y ogenasl XIJAAS
2,200& x43,0005 *80% 75,680
o= 22,704
Al 52,976
OPHS QYRS o2 FAJ X
330, 000& *92JH *90% 27,324
o= 6,072
Al 21,252
OSSAH HM2lJl XI& A
18,600, 000 = 10CH *50% 93,000
= 27,900
Al 65,100
OttstH=& X XIS AY 20,700,000 *70% 14,490
== 4,140
Al 10,350
RUNS2H(2E) 13,123 27,050 A 13,927
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Off &t 24

=

i
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3
9
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>
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= N
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A13,927
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= HnH
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540
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30,000

A 27,000

(=)
OR&RIISES LdH NS

200, 000& *305 *50%

= N W

,000

,000
,200

540
,260

30,000

A 27,000

A0l Sdtr=Hl XA

= MW
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,200
440
1360

7,500

A 1,500
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ne
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= W
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1360
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SN ELD
ol &

Sl ISP ALY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,200
< 1,440
Al 3,360
e BAS(EX) 300,000 300,000 0
=2 240,000
< 30,000
Al 30,000
301 LEMZ 300,000 300,000 0
=2 240,000
< 30,000
Al 30,000
12JE2 4= 300,000 300,000 0
Oaxz 243 300,000, 000& *100% 300,000
= 240,000
< 30,000
Al 30,000
PHALAINLLZALRN (DI SLAAE) 648,709 795,158 A 146,449
= 326,997
< 91,383
Al 230,329
206 = Hl 648,709 795,158 A 146,449
= 326,997
< 91,383
Al 230,329
01 MHZ 4l 648,709 795,158 A 146,449
OJEgoiots 648,709
= 326,997
< 91,383
Al 230,329
THALAINLAZTALR (P H Lol ) 407,000 386,400 20,600
= 284,900
< 40,700
Al 81,400
402 RI2EX 20| ™ 407,000 386,400 20,600
= 284,900
< 40,700
Al 81,400
03 212t &AL S HI 407,000 386,400 20,600
O7HMY g (dds) XM
814,000,000 *50% 407,000
=2 284,900
< 40,700
Al 81,400
HMALAIMLAE L XE(HXMDEH0IH A Ol 168,000 216,000 A 48,000
o E)
= 84,000
< 28,000
Al 56,000




SN ELD
ol &

Sl ISP ALY (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
402 SI2FXHE0| M 168,000 216,000 A 48,000
= 84,000
& 28,000
Al 56,000
02 CIZEXIE A EX (0| XM THL) 168,000 216,000 A 48,000
OWXIMIEI0NIHA HEUE XAALY
2,000 *140,000% *60% 168,000
= 84,000
= 28,000
Al 56,000
PHELAIWSAERATN A (HXNAZHEE X EX S 12,000 12,000 0
)
= 6,000
= 1,800
Al 4,200
307 QI2t0| & 12,000 12,000 0
= 6,000
& 1,800
Al 4,200
02 A2t AMAIE E =X 12,000 12,000 0
OHYX A2HES NS XA
10,000, 000& 20 2 *60% 12,000
= 6,000
=} 1,800
Al 4,200
FTHELAIWSAEZERAT R (A B2 42 IHEH]) 156,000 156,000 0
= 46,800
& 31,200
Al 78,000
301 et M= 156,000 156,000 0
= 46,800
& 31,200
Al 78,000
12 JIEtE2 A= 156,000 156,000 0
O B24ety o 2y TWEH|
10,000 * 15,6005 *100% 156,000
= 46,800
o= 31,200
Al 78,000
PTRHEUAIM S UAZRAX (0B A HEASH|) 110,000 92,500 17,500
= 55,000
& 16,500
Al 38,500
301 dEtE M= 110,000 92,500 17,500
= 55,000
& 16,500
Al 38,500
12 JIEtE A= 110,000 92,500 17,500




2AM: F4h
=

B S4 M L
SR =L AAY (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Ooulgeral S Al=Hl 5,000 *22,0005 x100% 110,000
= 55,000
< 16,500
Al 38,500
PHALAINL AL (HSREAMNTINSHE 35,640 40,986 A5,346
EES)
= 17,820
< 5,346
Al 12,474
201 LB-2d| 35,640 40,986 A5, 346
= 17,820
< 5,346
Al 12,474
02 3323l 35,640 40,986 N5,346
OXNSERLHAAMNEI S22 KA
118,800& *600CH *50% 35,640
= 17,820
< 5,346
Al 12,474
FHESLAINSASTRLXN S (MR E X AAE 14,400 11,440 2,960
PIESHARE)ER)
= 7,200
< 2,160
Al 5,040
301 LPENF 14,400 11,440 2,960
= 7,200
< 2,160
Al 5,040
12 JIEtE 43 14,400 11,440 2,960
OXNSRLHAAEX 4N SSHAH 25 X
HAAS 14,400,000& *100% 14,400
= 7,200
= 2,160
Al 5,040
FHELAINLAZTPYXNR (O3 =0t 2E2tel N 120,000 126,000 26,000
)
= 60,000
< 18,000
Al 42,000
307 glz2tol & 120,000 126,000 26,000
= 60,000
< 18,000
Al 42,000
02 It M AHE L 120,000 126,000 26,000
OJlasot 2822l XNFAY
10,000, 000& *20H 2~ *60% 120,000
= 60,000
< 18,000
Al 42,000

_20_




N L1
a4 B L
Sl ISP ALY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CCTV s &9 ol=Zet X&MLY 180,000 180,000 0
J| 90,000
< 27,000
Al 63,000
402 2I2H X201 M 180,000 180,000 0
J| 90,000
< 27,000
Al 63,000
02 QI EAISEZ (01X THS) 180,000 180,000 0
OCCTV S &9 olzZet XA
300,000,000 *60% 180,000
J| 90,000
< 27,000
Al 63,000
SN 24 208,500 210,046 A 1,546
J| 104,250
< 31,275
Al 72,975
402 QI2H X201 M 208,500 210,046 A 1,546
J| 104,250
< 31,275
Al 72,975
03 212t & AL S HI 208,500 210,046 A 1,546
O3sZLHE 2] 103,068
J| 51,534
< 15,460
Al 36,074
O=s&HE 2l 105,432
J| 52,716
< 15,815
Al 36,901
= AFSHACCPZI & & (A AHEH) 16,800 18,200 A 1,400
J| 9,600
< 2,160
Al 5,040
307 21201 A 16,800 18,200 A 1,400
J| 9,600
< 2,160
Al 5,040
02 IZtE M AHE L 16,800 18,200 A 1,400
OF4E HACCP &Y XA
24.,000,000& *70% 16,800
J| 9,600
< 2,160
Al 5,040
A PEH XA (XN 24,500 24,500 0
206 = Hl 24,500 24,500 0




EXN: Fat
My B4 AMY L3
Sl ISP ALY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 X2 H| 24,500 24,500 0
O&EA 2EH 22 JME P2HAY
70,000 x350= 24,500
ZMI| HEH KAS (XEAN) 60,000 60,000 0
206 M = Hl 60,000 60,000 0
01 X2 Hl 60,000 60,000 0
OZEMI| S4tsIF HAEM XNRALY
5,000& 12,000 60,000
ASExA 2Y9H XS 300,000 0 300,000
= 150,000
Al 150,000
101 e1214| 200,000 0 200,000
= 100,000
Al 100,000
04 J|I2ZtHIZ2Z2NEES 200,000 0 200,000
OAExA Q2AH X 200,000
= 100,000
Al 100,000
201 LBt Y| 50,000 0 50,000
= 25,000
Al 25,000
01 AP 22| d| 20,000 0 20,000
O=x=A 249H| 20,000
= 10,000
Al 10,000
02 3244l 30,000 0 30,000
O=x=4A 249H| 30,000
= 15,000
Al 15,000
206 M = Hl 50,000 0 50,000
= 25,000
Al 25,000
01 X2 H| 50,000 0 50,000
(@)=1ac-Relr—DNEC 50,000
= 25,000
Al 25,000
SSAH HelAlE KA (KAL) 93,000 0 93,000
402 SI2vXHE0| & 93,000 0 93,000
01 S22 AN EXR (M) 93,000 0 93,000
OSSAMM H2IAE XA
9,300,000 = 10CH 93,000
HEALASAIE 2EXA 240,000 0 240,000
= 72,000
Al 168,000
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A &
Ha: BN B L3
SR RS -1 -E P CERED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
Al 560
02 It EAIL EZ (01X S) 800 0 800
O2A T A=H XNJ3AY 2,500 «400kg*80% 800
< 240
Al 560
i 2AIE AZE U 30,000 0 30,000
< 9,000
Al 21,000
402 RIZ2HXt20l 30,000 0 30,000
< 9,000
Al 21,000
02 2IZt 2 AL EZ (OIS ) 30,000 0 30,000
OW==H AT AL USALS
50,000, 000 *1JH 2 x60% 30,000
< 9,000
Al 21,000
AAE = - 8Ot CHHl XISk WX 7,667 0 7,667
< 2,300
Al 5,367
402 RIZ2HXt201 ™ 7,667 0 7,667
< 2,300
Al 5,367
02 22t X2 AL E X (01X THE) 7,667 0 7,667
OU==H AT SH2F W XA
12,778,000& * 13 x60% 7,667
< 2,300
Al 5,367
==X &3 316,562 356,349 A 39,787
J| 189,937
< 31,656
Al 94,969
o =4 X3 316,562 356,349 N 39,787
J| 189,937
< 31,656
Al 94,969
BRI (EX) 316,562 356,349 A 39,787
J| 189,937
< 31,656
Al 94,969
307 glz2tol & 316,562 356,349 A 39,787
J| 189,937
< 31,656
Al 94,969
02 QIZtE A AHE X 316,562 356,349 A 39,787
OstuRRSAAY 316,562
J| 189,937
< 31,656
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n0

Kio

Hl w

A 6,400
A 6,400
A 6,400

H3r
Wikd
RIS

24,000

24,000
24,000

7,000

7,000

7,000
7,000

3,600
3,600

Off &t 24

94,969

Al

17,600
17,600
17,600

7,000

7,000
2,000
5,000

7,000
7,000
7,000

3,600

R0
30
OH
RO
10

30
0
ol
oll

01 At 22l bl

0o
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1J
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01 SLHOHI

202 o4 Hl

K]
Kt
ok
ol

Jl2&dl

3,600
3,600
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